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ZD'BEEFDESIE090—CDI—F%., 1{THDO~9IFEI—FETRLET,
= 0 1 2 3 4 5 6 7 8 9
09010 |[INTTKZ [[NTTRZ3 [[NTTR3 [[NTTR3 [[NTTR3 |[NTTR3 |NTTR3 |INTTRO |INTTRa |INTTRO
+ x + x + x + * + *
09011 KDDI NTTkO |[NTTFO [[KDDI KDDI KDDI KDDI KDDI KDDI KDDI
* +
09012 ||KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI
09013 [V 2ksN ([VDksN [[VDRsN [[UTRN [[VTRN [[UTRN [V TRN ||VTRIN ||V TRN VTR
vy >y vy vy vy vy vy vy vy >y
09014 |[INTTHkZ [NTTkZ3 [[NTTRO [[NTTR3 [[NTTR3 |[NTTR3O |NTTR3 |INTTRO |INTTkO |INTTRO
T £ T £ T £ T £ T £
09015 |[INTTKkZ [[NTTkZ3 [[NTTRO [NTTR3 [[NTTk3 |[NTTR3O |NTTR3O |INTTRO |INTTka |INTTRO
T £ T £ T £ T £ T £
09016 |[INTTkZ [NTTkZ3 [[NTTRO [[NTTR3 [[NTTk3 |[NTTR3O |NTTR3 |INTTRO |INTTkO |INTTRO
T £ T £ T £ T £ T £
09017 |[V2bksN [[VDEsN [[VUDRsN ([VTRN [[VTRN [[UTRN [V TRN ||VTRN ||V TRN VTR
vy vy vy vy vy vy vy vy vy >y
09018 ||KDDI KDDI KDDI KDDI KDDI KDDI KDDI NTTRO [NTTk3 [[NTTEk3
£ T £
09019 |KDDI KDDI KDDI KDDI s+t /L|[KDDI KDDI KDDI NTTFZO [[NTTFO
>—%&; E £
09020 ||KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI
09021 NTTRO [[NTTkO [[NTTFO [[NTTF3 |INTTRF3 |INTTR |INTTR |[NTTRO [NTTR3 ([NTTRO
+ x + x + x + x + x
09022 |[INTTKZ [[NTTRZ3 [[NTTR3 [[NTTR3 [[NTTR3 |[NTTR3 |NTTRO |INTTRO |INTTRa |INTTRO
+ x + x + x + x + x
09023 |[INTTKZ [[NTTFZ [[NTTR3 [[NTTR3 [[NTTF3 |[NTTR3 |NTTRO |INTTRO |INTTRa |INTTRO
+ x + x + x + x + x
09024 |[INTTKZ [[NTTRZ [[NTTR3 [[NTTR3 [[NTTR3 [[NTTR3 |NTTRO |INTTRO |INTTRa |INTTRO
+ x + x + x + x + x
09025 |[INTTKZ [[NTTRZ [[NTTR3 [[NTTR3 [[NTTF3 [[NTTR3 |NTTRO |INTTRO |INTTRa |INTTRO
+ x + x + x + x + x
09026 |[INTTKZ [[NTTRZ3 [[NTTR3 [[NTTR3 [[NTTR3 |[NTTR3 |NTTRO |INTTRO |INTTRa |INTTRO
+ x + x + x + x + x
09027 |[INTTKZ [[NTTRZ3 [[NTTR3 [[NTTR3 [[NTTR3 [[NTTR3 |NTTRO |INTTRO |INTTRa |INTTRO
+ x + x + x + x + x
09028 [V 2ksN (VRN [[VTRsN (VRN ([VTRIN VTN VT RIN IV TRN IV TRN VTR
i >y i >y i >y i >y i i
09029 |KDDI KDDI Y)Jk/\ ||[KDDI KDDI YIkN |[VTRN |[VTRIN [VTRN TN
i >y i >y i i
09030 |[INTTKZ [[NTTRZ3 [[NTTR3 [[NTTR3 [[NTTR3 |[NTTR3 |NTTRO |INTTRO |INTTRa |INTTRO
+ x + x + x + x + x
09031 NTTRO [[NTTkO [[NTTFO [[NTTF3 |INTTRF3 |INTTR |INTTR |[NTTRO [NTTR3 ([NTTRO
+ x + x + x + x + x
09032 |[INTTKZ [[NTTRZ3 [[NTTR3 [[NTTR3 [[NTTR3 [[NTTR3 |NTTRO |INTTRO |INTTRa |INTTRO
+ x + x + x + x + x
09033 |[INTTKZ [[NTTRZ3 [[NTTF3 [[NTTR3 [[NTTR3 |[NTTR3 |NTTRO |INTTRO |INTTRa |INTTRO
+ x + x + x + x + x
09034 |[INTTkZ [[V2k/N [T/ [KDDI KDDI KDDI NTTRkO [[NTTkO [[NTTk3 [[NTTKkO
+ >y vy £ + + x
09035 |[KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI
[l09036 |IKDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI




09037 |kDDI |KDDI |KDDI |KDDI |[KDD! |KDDI ||KDDI |KDDI |KDDI [i##8+tI/L
S—&EE
09038 |[KDDI |KDDI |[KDDI |[KDDI |KDDI |[KDDI |[KDDI |[KDDI |KDDI |[KDDI
09039 [[VZK/N VTR VRN VRN VTR VRN VTR 7R/ |[KDDI  |[KDDI
i i i i i i i i
09040 |[NTTFZ |[NTTRa |[NTTR3 |[NTTF3 |[NTTRF3 [NTTR3 [NTTR3 |[NTTR3 |[NTTR3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09041 [[VZF/N |[NTTRa |[NTTF3 |[NTTR3 |[NTTFa |[KDDI |[KDDI |[KDDI |[KDDI |[KDDI
i £ x x £
09042 |KDDI |[KDDI |[[KDDI |[KDDI |[KDDI |[KDDI [|[VZFk/N V2R [UTR/N [UTRA
i i i i
09043 |[NTTFZ [NTTRa |[NTTR3 |[NTTF3 |[NTTF3 [NTTR3 [NTTR3 [[NTTR3 |[NTTF3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09044 |[KDDI |[KDDI |[KDDI |KDDI |[KDDI |[KDDI |[KDDI |f#8t/L|[KDDI |[KDDI
>—8%;
09045 |[NTTR3 [[NTTR3 |[NTTR3 |[NTTR3 |[NTTR3 [[NTTR3 |[NTTR3 |[NTTR3 |[NTTR3 [[NTTR3
£ £ £ £ £ £ £ £ £ £
09046 |[NTTF3 [NTTRa |[NTTR3 [[NTTF3 |[NTTF3 [NTTR3 [NTTR3 [[NTTR3 |[NTTR3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09047 |[NTTF3 [NTTRa |[NTTR3 |[NTTF3 |[NTTRF3 [NTTR3 [NTTR3 |[NTTR3 |[NTTF3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09048 |[NTTFZ |[NTTRa |[NTTR3 |[NTTF3 |[NTTF3 [NTTRa [NTTR3 [[NTTR3 |[NTTF3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09049 |[NTTF3 [NTTRa |[NTTR3 |[NTTF3 |[NTTRF3 [NTTR3 [NTTR3 [[NTTR3 |[NTTF3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09050 |[NTTF3 [NTTRa |[NTTR3 |[NTTF3 |[NTTF3 [NTTRa [NTTR3 [[NTTR3 |[NTTR3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09051 |[NTTF3 [NTTRa |[NTTR3 |[NTTF3 |[NTTRF3 [NTTRa [NTTR3 [[NTTR3 |[NTTR3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09052 |[NTTF3 [NTTRa |[NTTR3 |[NTTF3 |[NTTF3 [NTTR3 [NTTR3 [[NTTR3 |[NTTR3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09053 |[NTTF3 [NTTRa |[NTTR3 |[NTTF3 |[NTTF3 [NTTR3 [NTTR3 [[NTTR3 |[NTTF3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09054 |[NTTF3 [NTTRa |[NTTR3 [[NTTF3 |[NTTF3 [NTTR3 [NTTR3 [[NTTR3 |[NTTR3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09055 |[NTTF3 [NTTRa |[NTTR3 [[NTTF3 |[NTTRF3 [NTTR3 [NTTR3 [[NTTR3 |[NTTR3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09056 |[NTTF3 [NTTRa |[NTTR3 |[NTTF3 |[NTTRF3 [NTTR3 [NTTR3 [[NTTR3 |[NTTR3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09057 |[NTTF3 [NTTRa |[NTTR3 [[NTTF3 |[NTTF3 [NTTRa [NTTR3 [[NTTR3 |[NTTR3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09058 |[NTTF3 |[NTTRa |[NTTR3 |[NTTF3 |[NTTRF3 [NTTR3 [NTTR3 [[NTTR3 |[NTTR3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09059 |[NTTF3 [NTTRa |[NTTR3 |[NTTF3 |[NTTRF3 [NTTRa [NTTR3 [[NTTR3 |[NTTF3 |[NTTR3
£ £ £ £ £ £ £ £ £ £
09060 [VZR/N VRN VRN VRN VTR VRN VTR VRN [UTRN VTR
i i i i i i i i i i
09061 |[KDDI |[KDDI |[KDDI |[KDDI |[KDDI |[KDDI |[KDDI |[KDDI |[KDDI |[KDDI
09062 ]IKDDI |KDDI |[KDDI |[KDDI |[KDDI |KDDI |[KDDI |[KDDI |[KDDI |KDDI
09063 ]KDDI |[KDDI |[KDDI |[KDDI |[KDDI |KDDI |[KDDI |[KDDI |[KDDI |[KDDI
09064 [[VZF/N VRN VTR VTR VTR VRN VTR VTR VTR VTR
i >y >y >y >y >y >y >y >y >y
09065 [[VZF/N VRN VTR VTR VTR VRN VTR VTR VTR VRN
i >y >y >y >y >y >y >y i >y
09066 |[VZF/N VRN VRN VTR VTR VRN VRN [UTRN VTR NTTRO
i >y i >y i Y i >y i £




09067 |KDDI KDDI KDDI KDDI KDDI KDDI NTTKZ [[NTTKZ |[NTTKRZ |NTTKO
T £ T £
09068 |INTTkZ |INTTkO ([NTTkO [KDDI NTTFZO |[KDDI B+ )L|[KDDI NTTFZO [[NTTFO
£ £ £ E >—%&; £ £
09069 |[NTTF3 [NTTRa |[NTTRa [[NTTF3 |[NTTF3 [[NTTRa [NTTR3 [[NTTR3 |[NTTR3 |[NTTR3
T £ T £ T £ T £ T £
09070 |[INTTKkZ [[NTTkZ3 [[NTTRO [[NTTR3 [[NTTk3 |[NTTR3O |NTTR3 |INTTRO |INTTRO |INTTRO
T £ T £ T £ T £ T £
09071 |[INTTKZ ([NTTkZ3 [[NTTRO [[NTTR3 [[NTTk3 |[NTTR3O |NTTR3 |INTTRO |INTTkO |INTTRO
T £ T £ T £ T £ T £
09072 |[INTTKkZ [[NTTkZ3 [[NTTRO [[NTTR3 [[NTTR3 |[NTTR3O |NTTR3 |INTTRO |INTTkO |INTTRO
T £ T £ T £ T £ T £
09073 |[INTTKkZ [[NTTkZ3 [[NTTRO [[NTTRO [[NTTR3 |[NTTR3O |NTTR3 |INTTRO |INTTRO |INTTRO
T £ T £ T £ T £ T £
09074 |INTTKkZ [NTTRZO [[NTTRO [[NTTR3 [[NTTR3 |[NTTR3O |NTTR3 |INTTRO |INTTRO |INTTRO
T £ T £ T £ T £ T £
09075 ||KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI
09076 |[INTTKZ [[NTTRZ3 [[NTTR3 [[NTTR3 [[NTTR3 |[NTTR3 |NTTRO |INTTRO |INTTRa |INTTRO
+ x + x + x + x + x
09077 |[INTTKZ [[NTTRZ3 [[NTTR3 [[NTTR3 [[NTTR3 |[NTTR3 |NTTRO |INTTRO |INTTRa |INTTRO
+ x + x + x + x + x
09078 |[INTTKZ [[NTTRZ [[NTTR3 [[NTTR3 [[NTTF3 [[NTTR3 |NTTRO |INTTRO |INTTRa |INTTRO
+ x + x + x + x + x
09079 |[INTTKZ [[NTTRZ3 [[NTTR3 [[NTTR3 [[NTTF3 |[NTTR3 |NTTRO |INTTRO |INTTRa |INTTRO
+ x + x + x + x + x
09080 |INTTkZO |INTTRFO ([NTTk3 [[NTTkZ [[KDDI KDDI KDDI Y Jk/\ |[KDDI VA
£ E £ E i i
09081 KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI
09082 |[KDDI |KDDI |KDDI |KDDI |KDDI |[KDDI |KDDI |KDDI |KDDI |;##&@&/L]
5—8&;
09083 ||KDDI KDDI KDDI KDDI Y2Ik/N |[VTR/N ||[KDDI KDDI KDDI KDDI
vy >y
09084 |[V2k/\ [INTTKZ |[NTTF3 [KDDI KDDI YIk/N |[VIRsN [[VUTRN VTR VTR
vy £ £ >y vy >y vy vy
09085 |[V2ks/N [[VDRsN VDR [[UTR/N [[VTR/N VTR IV TR/N |INTTRO |INTTRO |INTTRO
vy >y vy vy vy >y vy £ £ T+
09086 ([[VZk/N [[VZR/N [[V2R/N INTTRZ |INTTRZO |INTTRO |NTTRO [NTTRO [[NTTRZ [[NTTRO
i i i £ £ £ T £ T £
09087 |[INTTKkZ [[NTTkZ3 [[NTTRO [[NTTR3 [[NTTk3 |[NTTR3O |NTTR3 |INTTRO |INTTRO |INTTRO
T £ T £ T £ T £ T £
09088 |[INTTKkZ [[NTTkZ3 [[NTTRO [[NTTRk3 [[NTTk3 |[NTTR3 |NTTR3 |INTTRO |INTTkO |INTTRO
T £ T £ T £ T £ T £
09089 |[INTTKkZ ([NTTkZ3 [[NTTRO [[NTTR3 [[NTTk3 |[NTTR3O |NTTR3 |INTTRO |INTTkO |NTTRO
T £ T £ T £ T £ T £
09090 |[INTTKkZ [[NTTkZ3 [[NTTRO [[NTTRO [[NTTk3 |[NTTR3 |NTTR3 |INTTRO |INTTkO |INTTRO
T £ T £ T £ T £ T £
09091 [V 2bksN [[VDksN [[VDRsN [[UTRN [[VTRIN [[UTRIN [V TRIN |IVTRIN ||V TRN VTR
vy >y vy >y vy >y vy >y vy >y
09092 ||KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI
(09093 |[IKDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI
09094 [V 2bksN [[VDRsN [[VUDR/N (VTR [[UTRIN [UTRIN VT RIN IVTRIN IVUTRN ||VUTRN
vy vy vy vy vy vy vy >y vy i
09095 |[INTTKkZ [[NTTkZ3 [[NTTRO [[NTTR3 [[NTTk3 |[NTTR3O |NTTR3 |INTTRO |INTTkO |INTTRO
£ £ T £ £ £ £ £ T £
09096 ||KDDI KDDI KDDI KDDI KDDI Y k/\ |[KDDI KDDI )IJk/N (VTR
KDDI KDDI KDDI KDDI KDDI KDDI KDDI KDDI B+t )L|[KDDI
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09098 [VIbksN VTR VTN VTN VTR VTR VTR VTR VTR VTR
i 9 i 9 9 9 i 9 i 9

09099 (VZk/N [[VTksN [[VTRN VTR (VTR [VTRN [UTRN VTR VTN VTR
i 9 i 9 9 9 i 9 i 9




